RN e AN M

G Bt BH% 2%4



5|51
TRIEWGELRBTARDAEAFR:

EBEETRE. PEAIR. TETE.
ﬁﬁﬁﬁ;@ﬁﬂ—{i S5 R, BTk, BRI R
RS2, 3, 4}
EN  BOQANFEAZEE], RANHE, X Q>R
MEXSHN € SUAEFEA 25 8] _EIBENLAR &=




(BT H A
AT w090 X: X = &gy
AEESHL. RS

T2 M B — AN A S 1 R : . Bl S A& K5 208 A
ey i~ B ALALEG 12 ) FarY, e
*’fi/fiééiéﬁﬂjéix, D) Eé’yﬂ‘ﬁ%ﬂl{ﬁﬁ[o,oo), "F‘%Ji«%/%] %?Z, ET?J%

qﬁ%ﬁxj‘\ﬁ: 0,1,2, 560 E ﬂl'fﬁ%[CL CZ],
X f%ﬁ?%mﬁé \ Y )
= Y,z &S BENEE



5 183520155 T = A R4 T -
i % E T R RS
X 1 2 3 4
RSl 0.4 0.3 0.2 0.1
AT EXEMEL>HE
0.6 -
0.4
0.4 - 0.3
0.2
0.2 0.1
0
1 2 3 4




‘TERTEBEASTREFTE WEH4TRAEFTHNX<2Z}
PIX <2}=P{X =1}+P{X =2} =0.4+0.3=0.7

ENX FX)=P{X <x}, V¥xeR

FRE(X) A AL EXE 97 % 2o

AR — AT X3 R E— 5 F K
-7 ik 2 F(X) LA A+ & 4F4ETR?



7370 R R
1. 4B F(x) =0, vxeR

2. Bk F(—0)=0, F(+00)=1
3. M vx <X, F(x)<F(x,)

A ATESENE  lim F(x) = F(x,)

X—>Xo +0

5. 15 MEE P{fa< X <b}=F(b)—F(a)



F(x) =P{X <x}

( O’
0.4,

0.7,
0.9,

1,

~

X<l

1<x<?2

2<x<3

3<x<4

X=4

0.9~

0.8

0.7

0.6~

0.5~

0.4~

0.3

0.2~

0.1~

0.9

0.7

0.4

S

, r r r r r r r
0.5 1 15 2 285) 3 3.5 4 4.5



Ri&ESEBAENEEY R
T~ B FANAE KSR 4
AEHEEER. BK
RAKHE F500T, &

H #1400T. WY H#55H
A % B de B BT T

1.2

0.8

0.6

0.4

0.2

F(y)

™ v~ ™ v o



s 2
(1) MEZ6 2L
(2) A& &K FX=P{X<x}
(3) 2% F AR



